50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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3 hrs.

Note: Answer any FIVE, full questions, choosi
ONE full qﬁ?ﬁydn from each module& };,

&

Write the basic performance g | o ‘egch of the parameters in the
equation of the performance, Qf&h@ computer ‘ (04 Marks)
Draw and explain the connéct;gns between the processon@nd the main memory. (08 Marks)
Write a program to eva%ﬁ“gte the arithmetic stateme‘ft«*Y = (A + B) * (C + D) using three —

address, two-adderss, (o1 —adderss and zero — ad ’“’ (08 Marks)
: OR. ¢
What is an addf:““ ing mode? Explain an %‘faﬁ”r addressing modes with examples. (08 Marks)
Explain the&ogc“pt of stack frames, when's) broutines are nested. (06 Marks)
Explain t;a‘e h*‘ift and rotate operations vglth examples. (06 Marks)
&, ¢
Give othparlson between mem ry mapped 1/0 and I‘/Qfmapped 1/0. (04 Marks)
Explain the following methods/of handling mterrgpgs ﬁ:bm multlple devlces
1) Interrupt nestmg /prlont. rs N 7
g (08 Marks)
(08 Marks)
(12 Marks)
(08 Marks)

, explain thq”““%@gmal organization of a 2M X 8 dynamic memory chip.

v (08 Marks)
(04 Marks)
(08 Marks)

What is virtual memory'7 Wlth a diagram, explain how virtual memory address is translated?

(08 Marks)
i) Memory lat%nﬁggl | ii) Memory bandwidth iii) Hit-rate iv) Miss-penalty. (04 Marks)
Describef‘the\@;working principle of a typical magnetic disk. (08 Marks)
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Module-4 -
Convert the following pairs of decimal numbers to 5- bit signed 2’s complement binary
numbers and add them. State whether overflow has’ occurred
i)—5and 7 ii)-10 and —13 iii) —14 and 11., <% (06 Marks)
Draw 4-bit carry-look ahead adder and explam (06 Marks)
Explain Booth’s algorithm, multiply +1 5 énd 6 using Booth’s multlphcatlon (08 Marks)

\

)y or

Explain the concept of carry-saVe addltlon for the multlphcatlcn operation M x Q = P for
4-bit operands, with diagram and s Suitable example. b (08 Marks)
Explain IEEE standard for ﬂoatmg point numbers. , (06 Marks)
Perform the non-restormg d1v1510n for 8 + 3 by shong all the steps. (06 Marks)
Module-S ,

Draw and explam multlple bus orgamzatxon of CPU. And write the control sequence for the
instruction Add-Rj, Rs, Be for the multlple bus orgamzatlon (10 Marks)
Explam with block diagram the basn organ1zat10n of a micro programmed control unit.

: # (10 Marks)

: OR 2

With block diagram, expldin the working of a mlcrOWave oven. » Wy (10 Marks)

Explain the structure of general purpose multlprocessors with dlagrams (10 Marks)
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